a(6 @) (rad)
a(d cot(B))

107} 107

Ratio
Ratio
-
=

-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

TTTI[TTTI[ITTT
iy
TITTTTTH[ T TTTT
4
z
. 5
» o

—=— DQM_TT__ORIGINAL
—— DQM_TT__MODIFIED_propToPlane_PRVersioniFINAL

aoa, ) (cm)
o(dd,) (cm)

107}

1072

10

:....!....!.... .10—3 .
i g f LIS B e

Ratio
Rati

o
>
=
[N)
LN

2Hlae b= 1h- Aok R | S

10 1 s N O

-2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

1072 =4

0 T 2 3
TP n (PCA to beamline)

Ratio
[
a1
!

iy

I Raaasmans
N - . -
|
LN



	Contents
	Page 1


